1x1=1 ixi=2 dx1=3 4x1=4

1x2=2 2xdzd Ix2:zh dx2=8
1x3=3 2x3=6 Ixd=9 4X3=12
1xd=4 2xd=8§ Ixd=12 dxd=16
1x5=5 2x6=10 dx5=15 4x5=20
156=6 2x6=12 dx6=18 dxG=24
127=7 2x7=14 Ax7=21 4xT=28
158=8 2xB=16 dxB=24 dx8=32
1x8=8 2x8=18 dx8=27 dx9=36
1x10=10 2x10=20 3x10=30 4x10=40
Bxi=} Bxi=6 Txi1=7 Bxi=8
Ex2=10 Bx2=12 Tx2=14 Bi2=16
Exi=15 Gxi=18 Txi=H Bxd=234
5xd4=2l Gxds2d Txda28 Bxd=32
Exh=35 Bx5=230 Tx5=35 Bub=40
bx6=230 6x6=36 Tx6=42 BxG=48
5xT=135 BxT=42 TExT=48 BxT=56
Sxf=4d0 BxB=4A Tul=56 Brfi=nd
Fi9=45 Ex9=54 Tx9=863 Bi9=72
Sx10=50 Gx10=60 Txi0=T0 dx10=80
Bx¥1=9 10x1=10 MNxi=M 12x1=12
Bx2=18 10x2=20 Mx2=22 12x2=24
9x3=27 10x3=30 Nxi=33 12x3=36
Bxd=135 10x4=40 Mxd=44 12x4=48
Bx5=45 10x5=50 11x5=55 12x5=60
GxG=54 10 % & = 60 NkGE=66 12x6=7T2
Bx7=63 10x7=T70 11xT=71 12x7=84
Bx8m72 10x8=80 Hxé=@g 12x8=96
Bxf=81 10x9=50 fixfi=54 12x8=108
9x10=90 10 10 = 100 11x10=110 12x10=120

wch sy vbsolyorg ablebet pll




